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(THel =8) 1Q 21 (HEHIF) 4Q 20 (HEH|F ) 1Q '20
Of = o 65.39 100.0% 61.55 100.0% 55.33
O = & 7t 4150 63.5% 37.80 61.4% 34.81
jEE019 23.89 36.5% 23.75 38.6% 20.52
Fhtd| 14.51 22.2% 14.70 23.9% 14.07
- G| 5.44 8.3% 5.22 8.5% 5.36
Sgo|Y 9.38 14.3% 9.05 14.7% 6.45
7|EtE e l=2/H| & A0.02 - ~0.34 - A0.05
INER= el 0.15 0.2% 0.13 0.2% 0.06
=R 0.24 0.4% 0.14 0.2% 0.30
EH O] :"*t7|-1-|0|0| 9.75 14.9% 8.97 14.6% 6.76
HOIMH|E 2.67 4.0% 2.37 3.8% 1.87
0|9 7.14 10.9% 6.61 10.7% 4.88
XHiZ7 1S 2 7FX& «=0[< 7.09 10.8% 45 10.5% 4.89
212 Fe+0]9 (3) 1,044 949 720
T2 T4 IH
1Q ‘21 4Q '20 1Q ‘20 1Q'20 4Q'20 1Q'21

ROE 10% 10% 7%

D= =0lAE (=0|2/0i=) 0.11 0.11 0.09 — — = —u

SRt S| HE (O1E/B A 0.68 0.67 0.62 24% 26% 25%

MF H 2 K] (XS XHR) 1.40 1.36 1.34 o 10% 10%
EBITDA Of%l 25% 26% 24% ROE —=~EBITDA Margin




A8 g & S0
=
(Eh9l: =) 1Q ‘21 4Q '20 1Q '20 QoQ YoY
= Y 65.39 61.55 55.33 6% 1 18% 1t
CE & & 12.99 13.61 10.30 5% | 26% 1
VD 7.22 8.51 5.65 15% | 28% 1
M 22 29.21 22.34 26.00 31% 1t 12% 1
M 28.20 21.46 24.95 31% 1 13% 1
DS & & 25.82 27.92 24.13 8% | 7% 1
HE = K| 19.01 18.18 17.64 5% 1 8% 1t
- HEe 14.43 13.51 13.14 7% 1 10% 1
DP 6.92 9.96 6.59 30% | 5% t
Harman 2.37 2.92 2.10 19% | 13% t
0=IO-IO|OI
(Eh9l: = 8l) 1Q ‘21 4Q '20 1Q '20 QoQ YoY
= Y 9.38 9.05 6.45 0.34 2.94
CE &2 1.12 0.82 0.45 0.30 0.66
IM £ 4.39 2.42 2.65 1.97 1.74
DS 3.75 5.63 3.72 A1.88 0.03
o A 3.37 3.85 3.99 A0.48 A0.63
DP 0.36 1.75 A0.29 A1.39 0.65
Harman 0.11 0.18 A0.19 A0.07 0.30

X CE : Consumer Electronics, IM : IT & Mobile communications, DS : Device Solutions, DP : Display Panel
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T = 219 127|% 20T 209 127|%
3,928,263 3,782,357 3,574,575
-Ha 8% 1,318,650 1,247,270 1,131,964
- BfExHA 339,621 309,651 363,886
- A XpaE 306,200 320,431 284,549
- EXtRE 251,757 252,652 186,502
- SR 1,327,477 1,289,529 1,216,780
- PR 183,867 184,685 209,124
- 7|EbRbA 200,691 178,139 181,770
NN | 3,928,263 3,782,357 3,574,575
= 1,185,577 1,022,877 910,698
- X3 199,728 202,174 156,652
- O UxH S 111,336 97,392 107,225
- O[Xg23H& 490,254 362,293 314,314
== B 44,576 44,303 26,084
- M3 17,855 21,199 18,257
- 7|EHE Y 321,828 295,516 288,166
2,742,686 2,759,480 2,663,877
= 8,975 8,975 8,975
S XHEA| 3,928,263 3,782,357 3,574,575
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